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4 ba i & Plasmodesmata o T 5 3% — B4k sk &) o #E & 48 1 (A) peroxisomes (B) desmosomes
(C) gap junctions (D) extracellular matrix (E) tight junctions.

cell fractionation 378 £ 69 B &5 & (A) view the structure of cell membranes  (B) identify the
enzymes outside the organelles (C) determine the size of various organelles (D) separate the major
organelles so that their particular functions can be determined (E) crack the cell wall so the
cytoplasmic contents can be released.

AT S oh A 5 B 42 &7 (A) They live in warm coastal waters  (B) They possess pigments
that reflect and transmit red light (C) They use red light for photosynthesis (D) They lack
chlorophyll (E) They contain the pigment bacteriorhodopsin.

3o R AT A &) mycorthizae #didbsk b F % o F R ffT4H ESE (A) There would be fewer
infectious disease (B) We wouldn’t have any antibiotics (C) There would be no mushrooms for
pizza (D) Most vascular plants would be stunted in their growth (E) Cheeses like blue cheese or
Roquefort would not exist.

. 43 eukaryotes %, prokaryotes, £ X B 69 AR E B T FIIHEE R R W

(A) transcription  (B) translation (C) mRNA stability (D) mRNA splicing (E) protein stability.
T 74kl 7 & £ 57 (A) Linked genes are found on different chromosomes (B) The observed
frequency of recombination of two genes that are far apart from each other has a maximum value of
100% (C) All of the traits that Mendel studied-seed color, pod shape, flower color, and others-are
due to genes linked on the same chromosome (D) The closer two genes are on a chromosome, the
lower the probability that a crossover will ocour between them  (E) Crossing over occurs during
prophase IT of meiosis.

4 eukaryotic cells ¥ F 7|7 — B2 X % A T FE4F € 8477

(A) electrontransport (B) glycolysis (C) the citric acid cycle (D) oxidative phosphorylation

(E) chemiosmosis

AR RHRE T pyruvate R 25 BA__ 0 ASEHBEATRIEIEE_ -

(A) glyceraldehydes-3-phosphate and dihydroxyacetone phosphate; citrate and fumarate (B) carbon
dioxide and water; acetyl CoA and citrate  (C) acetyl CoA and citrate; carbon dioxide and water

(D) carbon dioxide and water; lactate or ethanol (E) lactate or ethanol; carbon dioxide and water
BT 0 F R TH M FRRL AR RS T A — M8 &2 (A) exposure to light  (B) imbibition
(C) abrasion of the seed coat (D) exposure to cold temperatures  (E) covering of fertile soil

10. M ERY AR FHREAL FABRMME » X5 % (A) baving no stomata, they lose less

water (B) they all disperse by means of seeds  (C) diploid plants are protected from the effects of
mutation (D) their gametophytes are all parasitic on the sporophytes (E) eggs and sperm need not
be produced.
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H¥—EL ARG S, #4248 endodermis, pericycle, metaxylem #4 £ & symplastic #7i&

& o (8 AN MFofAMIESE L 5

357 84728 P3 @ & photoreceptors, 3. 84 4. = photoreceptors 77 1% & 4 2 9y e - — #7148
Z - (10 &)

#73F apomixis?¥k Bl 42 & 8 o T A 25 47)

#4099 3 $% 46 A (transpiration) £ it 8 L eV E B - (4 &)

34,55 /798 photorespiration, 3 3§3¥ L C4 44w 7 B{& photorespiration (10 &)
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